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QUESTION 1

Why would an application developer compute Gross Margin in a dimension hierarchy? 

A. To use the fast consolidation engine. 

B. To use a feeder. 

C. To store the data in a specific cell in the cube. 

D. To optimize a rule. 

Correct Answer: A 

 

QUESTION 2

An application developer needs to know the last time the Sales Forecast cube was updated. The cube file, including the
date and time stamp, can be found in which of the following locations? 

A. In the data directory. 

B. In the data file. 

C. On the web server. 

D. On the admin server. 

Correct Answer: A 

 

QUESTION 3

When should an application developer turn on Enable Cube Logging in a Turbo Integrator process? 

A. When a cube is created. 

B. When changes are made to a cube. 

C. When changes are made to a script. 

D. When a script is created. 

Correct Answer: B 

 

QUESTION 4

Which of the following examples will apply a rule to a subset of the Month dimension? 

A. [{\\'Jan\\', \\'Feb\\', \\'Mar\\'\}] 
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B. ["Jan", "Feb", "Mar"] 

C. [\\'Jan\\', \\'Feb\\', \\'Mar\\'] 

D. [(\\'Jan\\', \\'Feb\\', \\'Mar\\')] 

Correct Answer: A 

 

QUESTION 5

Some users would like to display an account using the account name followed by the account number. Other users
would like to display only the account name. 

Which option should the application developer use to satisfy both requirements? 

A. Create a text attribute for each requirement. 

B. Define an alias for each requirement. 

C. Define two alternate hierarchies. 

D. Create two dimensions that link to each other. 

Correct Answer: B 

 

QUESTION 6

An application developer would like to place a button on a template to run a process to upload data. 

Which of the following can be used to do this? 

A. Control toolbox 

B. Data validation 

C. Turbo Integrator 

D. Action button 

Correct Answer: D 

 

QUESTION 7

Which of the following spreading methods may use a lookup cube as the basis for the spread? 

A. Proportional 

B. Repeat 

C. Percent change 
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D. Relative proportional 

Correct Answer: D 

 

QUESTION 8

In order to calculate Revenue in the Sales cube, the application developer uses the Unit Price from the Pricing cube to
multiply it by Units sold, also in the Sales cube. 

Where should the most efficient rule and feeder reside? 

A. Rule and feeder in Sales. 

B. Rule and feeder in Pricing. 

C. Rule in Sales, feeder in Pricing. 

D. Rule in Pricing, feeder in Sales. 

Correct Answer: A 

 

QUESTION 9

What can an application developer provide to automate the save process for all TM1 objects? 

A. A script to store ODBC data in a cube. 

B. A chore with scripts to write data to all cubes. 

C. A rule to save data in all cubes. 

D. A chore with scripts to write data to all dimensions. 

Correct Answer: B 

 

QUESTION 10

Which of the following is used in a function to evaluate the current element from the Month dimension? 

A. \\'January\\' 

B. !January 

C. \\'Month\\' 

D. !Month 

Correct Answer: D 
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QUESTION 11

Which of the following can be used to load data directly from Microsoft Excel? 

A. Processing worksheets 

B. ODBC 

C. Rule worksheets 

D. ODBO 

Correct Answer: A 

 

QUESTION 12

Why should an application developer give a lookup cube name a prefix? 

A. To identify it as a lookup cube to TM1. 

B. To identify it as a lookup cube to users. 

C. To identify it as a lookup cube to other cubes. 

D. To prevent other cubes from having the same name. 

Correct Answer: B 

 

QUESTION 13

Which of the following variable types must be defined for a variable to be used for a simple or consolidated element? 

A. String 

B. Numeric 

C. Other 

D. Ignore 

Correct Answer: A 

 

QUESTION 14

The application developer created a rule to apply to all elements in a dimension yet the result does not appear. 

Which of the following would have caused this? 

A. A rule impacting this dimension exists above it. 

B. A rule impacting elements in this dimension exists above it. 
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C. A rule impacting this dimension exists below it. 

D. A rule impacting elements in this dimension exists below it. 

Correct Answer: B 

 

QUESTION 15

Which TM1 object is created using Turbo Integrator? 

A. Action buttons 

B. Dimensions 

C. Chores 

D. Application folders 

Correct Answer: B 
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